S ‘)_\_L’
E % % # =
1 2
3
(f 1) 4\/—6' (F8 1) Yy = §-
1
(g 2 r=6 , Yy = 4 (f 2] a= —8—
(f53 3] 1 ’ 4 6)) _%
(F3 3)
[ﬁﬁ 4] y — 72__9x (2) (i%q‘j@it%%{‘%:fot E]
3
b A, BOEZIZA(2,3),Bl 4, ),
(F9 5] ,}_l. < 2>
18 . 3 oy 3
B OA 031@%61—2- T, ERONT y=5%
(Fd 6] x BEAENS 4 THIEROA LossD 15,

KD OFEEZEIT(4,6) T, ERDBEx#ED
ZRzE &R L,

BD=—2—( cm),OE=4(cm) Thd,

AO/BC #»5AABC=ADBC T,

ADBC=BD x OEX% CHBDT,

ﬂ?&béﬁ%ti% x4x—§—=9 cm? &

B2 Y

..................................

............................................




(3—%8)

S l)“'[’
E % % 4;?5{ 7
3 4
o) 70 iy | 1) 367
(1
@ SR (1 2) : 3./2
(7 3) 150
AABQ & AACP BT, " e
{}iﬁib, AB=AC CD [ﬁ:ﬁ 4] [L_\[F@it"@ﬁ% ci&)
ZBAQ=ZCAP -
AP iZx4+2HEATHDDT, ZEMN=90° } 1,
ZABQ=ZACP ---® /AME=180°—90°— ZCMN=90°—~ ZCMN
D,0,8Ln, ZMCN=90° X v, ZCNM=90"—~ ZCMN
1D & Z DD i3 ThBHH)EH, LAME=ZCNM (D
FHENELVDT E3 LEAM= ZMCN=90° --@®,
AABQ = A ACP @D, On b 2HEOEAEREFNFNEZELVWOT
AAEMo ACMN |
fo7T, AE:AM=CM:CN---®
AC=6/2 75 AM=CM=3/2,
ZIhSE@IIRAL
6:3/2 =3/2:CN,
PALENG, CN=3(cm)
(M2 BQ:QP= 9 : 16
1
(R4 3) 8 T (&) 3 cm




